Blocks attached by cords
Name_________________

1. A 4.0 kg block and 5.0 kg block are attached by a cord and sit on a smooth tabletop.  A 30 N force is applied horizontally to the 5.0 kg block so that it pulls both blocks.  Find the acceleration of the blocks and the tension in the cord.  
2. Block A sits on a flat table.  μ = 0.25.  A cord that passes over a pulley attaches block A to block B which is suspended in the air off the end of the table.  Block A has a mass of 25 kg and block b has a mass of 15 kg. Find the acceleration of the blocks and the tension in the cord.   

3. A 4.2 kg block sits on a horizontal frictionless surface. A massless string runs to the right of this block and over a frictionless pulley and a 3.5 kg block is hanging from the string. When the system is released, find the acceleration of each block and the tension in the string.

4. A 1.5 kg block rests on a frictionless table top and is attached by a chord to a hanging mass of 3.5 kg over a frictionless pulley. The hanging mass is 1.5 m off the ground.  When the system is released, the hanging mass accelerates to the ground.  Find the tension in the cord and the acceleration of the block on the table.  
5. Two masses of 15 and 9 kg are connected by a cord that is suspended over a pulley. When the masses are released, determine the acceleration of the blocks and the tension in the cord.  

6. Two blocks are attached by a massless cord and suspended from a frictionless pulley so that they are both 1.6 m from the ground.  When the system is released, determine the acceleration of each block, the tension in the cord, the velocity of the lighter block when the heavier block hits the ground and the maximum height obtained by the lighter block.  The blocks have masses of 3.0 kg and 5.0 kg. 
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